Problema EQU-F1-021 : Equazione di primo grado fratta

Tratto da.”Dodero,Ed.Ghisetti”

EQU-F1-021- 7esto

Risolvere la seguente equazione: 3X+2 2-X — 3+ X +12
X-4 X+1 X -4

EQU-F1-021-Procedimento

Condizioni:

X-40—> X #4
X+1#0—-> X #-1

Svolgimento:

3X+2_2—X_3_X+12:0

X-4 X+1 X -4

(83X +2) (2-X) 3 (X+12)

(X-4) (X+1) 1 (X-4)

(3X +2)(X +1)—(2- X)(X —4)=3(X —4)(X +1)— (X +12)(X +1)
(X —4)(X +1)

(38X +2)(X +1)— (2= X )(X —4)=3(X —4)(X +1)= (X +12)(X +1) =0

(3X?+2X +3X +2)—(2X —8- X" +4X)=3(X? + X —4X —=4)—(X? + X +12X +12)=0

3X2+2X +3X +2-2X +8+ X2 —4X —3X2—3X +12X +12-X? - X -12X -12=0

0X2-5X +10=0

—5X +10=0

—5X =-10

5X =10

X = % =2 accettabile

=0

EQU-F1-021-Soluzione

X =2
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